Potencias de 10 (G)

98+ 102

63+ 1072

34+1072

431072

11+-102

55102

611072

75+ 1072

60+ 1072

5+1072

Calcule los siguientes cocientes.

28+ 1072

721072

101072

71072

99 + 1072

84 +1072

611072

29102

4102

59102
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Potencias de 10 (G) Respuestas

98 =102
9.800
631072
6.300
341072
3.400
43 +1072
4.300
11+1072
1.100
551072
5.500
61+102
6.100
751072
7.500
60+ 1072
6.000
5+102
500

Calcule los siguientes cocientes.

28 +1072
2.800
721072
7.200
10+-1072
1.000
7+1072
700
99 =102
9.900
84 1072
8.400
61102
6.100
29+ 1072
2.900
41072
400
591072
5.900
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